Refresher Course Math 1050 and 1060 Practice Problems Set 8 Fall 2007

1.) Convert to radian measure: a.) 30° b.) 150°.
a) )) ‘o
& C
Iz r
2.) Convert to degree measure: a.) - b.) —?.
Q <
a) 170 b) ~210° o, 500

3.) Find two coterminal angles (one positive and one negative) for 8 =390°.

4.) Find the complement and supplement of & =72°.

(omp lement, (g0

Su\/)/zlema/hL log®

5.) Find
n 5z
a.) the complement of 8 = o b.) the supplement of 6 = o
ekl i)
\Z (

c.) acoterminal angle to 8 = iz .

-/
¢
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6.) Let @ be an acute angle such that sin @ =0.6. Using trigonometric identities, find
the values of

a.) cosé
(05'0= | =sin'¢ = |- .7 = .€Y
2 (6]
b.) tané@
b o= 18 ¢ _ [3
cos & T e T o

7.) Use trigonometric identities to transform one side of the equation into the other

(0<9<£):
2

a.) tanfcotf=1

tand+cotd
tan

b.) csc? @

tan6 +co 16
tan @

= !‘f (G\Ll@
and |+ cot '@ =cscG

-

o« %//‘7 fo(fﬂﬁ%/
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8.) Find the value of the six trigonometric formulas given that

a.) sin@= % and @ lies in Quadrant II.

‘ B . - 2
Cos & = ,;i (s5¢c & ;
fan@= - 2 Sec & == 2
4 ¢
(é7L6L:—i
7

b)) tan9=_T15 and sin@<0.

CISI 5= 2isvey= 191 ym = (7
sing= —12 o=~ L2

¥
9.) Evaluate:
a.) secxw b.) tan%
N |
st - +dn % = OO0

=1

10.) Find the reference angle for each of the following:

a.) 6=208° b.) 6=-292°
1 5° Ey°
S we-22 Ju
5 7
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11.) Evaluate the sine, cosine, and tangent of the angle.

w5 sy) .- ) ¢
-5IH(T>” 2 5N /‘?):—_L
Cos(%y’):% Cos[«_z_’if);—_é
fon (1) 2 =05 Fen (2= 1
©) liﬂ [y - N
jlh(uj)'—r[f
@ ()= &

12.) Find cos@ if sin@ = —% and the angle lies in Quadrant IV.

(.059: b_i

13.) Find sec@ if tan@ =% and the angle lies in Quadrant IIL

ARSI}

(os 6= — —%3——

Sece = — W
2
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14.) Sketch the graphs of y =3cosx and y = %cosx.

>/ — Jcos x

}L(o;)(

| T">)(:

<

15.) Sketch the graph of y = cos%.

<J\f?(ﬁf\+'

P

16.) Sketch the graph of y = 25in(x—%).

D

\/
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